GROUP F

O STATES FOAM IS ON NEAR SIDE

s

<

) STATES FOAM IS ON FAR SIDE

NOTE ORIENTATION

NOTE ORIENTATION

Exploded View : EV ENCLOSURE C1 CPL EXT

Drawing No. : A0000529710

30

=AU
[7'5—F NN Y
2 AT N

Ly

Ly

Page 1 of 2

s

duiiiiy,

31

/ \ /// =
VA ///

Az,

TYPICAL INSTALLATION OF ROOFTOP

INSULATION ONLY

\_

LS\ fo
\ 'l// /) ?
/ &) /
\ - -
’ \ (3]

Revision : CN-0037745-B

Date : 6/19/20



EXPLODED VIEW: EV ENCLOSURE C1 CPL EXT

DRAWING #: A0000529710 GROUPF
ITEM PARTH# QTY. DESCRIPTION

1 G022097 13 WASHER LOCK M6-1/4

2 0H0412 12 NUT U M6-1.0 GEOMET

3 10000017417 1 AL13 PANEL FRONT CORNER C1 BISQUE

4 A0000510324 1 AL13 EXT ROOF C1

5 10000017409 1 AL13 EXTERNAL VENT COVER PLATE BISQUE

6 078115A 6 WASHER SELF LOCKING DOME #8-32

7 0C2454 12 SCREW HWHT Me6-1 X 16 N WA Z/JS
(1)8 0E3257 6 SCREW HWHTF M6-1.0 X 16

9 0C2634A 1 ASSY ACCESS COVER

10 0K69630AL13 1 PANEL RIGHT INTAKE C1

11 0F5048D 3 VISE-ACTION LATCH, SLOTTED CIR

12 0K69620AL13 1 PANEL REAR INTAKE CI

13 0F5049B 3 PULL TAB DOOR LOCK ST

14 0F8869D 1 KEY VISE-ACTION LATCH SLOT CIR

15 0K8641 12 SCREW HHFC M6-1.0 X 20 NYL WA

16 10000017451 1 AL13 PANEL FRONT LEFT CORNER C1 BISQUE
17 10000017452 1 AL13 DOOR FRONT C1 BISQUE

18 0K69600AL13 2 DOOR SIDE C1

19 10000018613 1 CUSTOMER ACCESS ASSEMBLY

20 0K69610AL13 1 PANEL LEFT INTAKE C1

21 0K6977 1 INSUL ROOF TOP C1 CPL

22 0KB977A 2 INSUL DOOR CI CPL

23 0K6977B 1 INSUL REAR C1 CPL

24 G022127 1 NUT HEX 1/4-20 STEEL

25 G077992 10 NUT HEX LOCK M6-1.0 SS NY INS

26 G022473 13 WASHER FLAT 1/4-M6 ZINC

27 0J7751 4 SCREW PPHTF #10-16 X 1/2 B

28 0K6922 1 PANEL FRONT DIVIDER C1

29 G080318 12 SCREW HHFC M6-1.0 X 25 FTH G8

30 (089961 1 FOAM STRIP 3/4"WIDE X 3/16"THK (70.25"LG)
31 0E5968 1 GASKET, EXTRUDED TRIM (304°LG)

32 0K4322 1(REF) EYE HASP CUST ACCESS BOX

33 0D3700 8 NUT FLANGE M6-1.0 NYLOK

34 10000016218 2 SWITCH ROCKER SPST ON-OFF IP65

NOTES (UNLESS OTHERWISE SPECIFIED):

(1) ENCLOSURE NOTE: ALL PANEL TO PANEL CONNECTIONS TO INCLUDE AT LEAST ONE CONNECTION POINT USING

I/N 8 (THREAD FORMING FASTENER).

REVISION: CN-0037745-B
DATE: 6/19/20

Page 2 of 2



